13U FUTBFOVTIVASUFUTR

K# i@ | 20198k | 2020% | 20208k | &&P mr
HE T2 | CE#ETA 8 30 30 68
X+ HRE (MSS) 14 14 14 42 2
e B | a=-9 4 22 14 40 3
Ak EE | 310 8 8 22 38 4
KiF % (8'4%) 6 8 8 22 5
5E B8 | deERL) 4 8 8 20 6
Xl X | (YELL) 4 14 2 20 [
=3 B | CFETA 4 8 4 16 8
Kix R | CEE#TA 4 4 4 12 9
KIE ##% | (MSS) 2 4 4 10 0
i BA (MSS) 2 4 4 10 0
HE &KX | MTP) 1 4 4 9 2
RE XF| (Os) 8 8 3
LR £ | (@XH) 8 8 3
KB & | ERWL) 4 4 8 3
& BFE | deRL) 4 4 8 3
EH #ht | (EE&Eg) 2 4 6 1
&H RN | (YELL) 2 4 6 7
Xf Mk | (MSS) 2 4 6 1l
AR EiR | dERWL) 2 4 6 7!
XE {8§REF| MSS) 2 2 4 21
=H g#h | (B 2 2 4 21
fhH K& | (W -IB) 2 2 4 21
RE X | (MTP) 2 2 4 21
¥ BXH | ERE) 1 2 3 25|
M B E | (BE=H) 2 2 26
ER &8X ]| a=-9 2 2 26
o BB | (XD 2 2 26
R | @XM 2 2 26
tH # | @XM 2 2 26
®E X | (Eifd) 2 2 26
L+ H FEEX [(ADVANCE) 2 2 26|
il £EA | (MTP) 2 2 26
BE R | a=-9 2 2 26
fEH &EFE | @XM 2 2 26
=€ #f| @=-9 2 2 26
£ BE | 0—th) 2 2 26
HE B | FEEFAD 2 2 26
AfE BE{=| (MSS) 2 2 26
M OB | (YELD) 2 2 26|
NS FEHEAl (W-FB) 2 2 26
Bl B | (MTP) 2 2 26
PR IERE | (TN21) 2 2 26
BmE HE| (MTP) 2 2 26
XHF = (3'1%) 2 2 26
B £ | w-tB) | 2 2 26
TPIY EH=30 #£{EHE=22 Best4d—14 Best8=8 Best16=

UNF{u+ Bl=8 #/B5=6 Best4=4 Best8=2 Best16=1

4 Best32=2



13U FUTEFLTILRIVX TR

K& FrE | 20198k | 20208k | &FP | WAL |
A+ HE (MSS) 22 30 52 1
i+ BEsk (az-%) 22 30 52 1
BE & | (EE#TA 8 22 30 3
Kl =X (YELL) 22 22 4

KiE 5% (4'4%) 8 14 22 4
85 ES | UERWL) 8 14 22 4
il (MSS) 8 14 22 4
Nk =& (4'1%) 2 14 16 8
=50 &t (YELL) 4 8 12 9
Kixg EF | CE#ETA) 4 8 12 9
=23 B | EETA 4 8 12 9
EH #th | E&EH) 4 8 12 9
i BA (MSS) 4 8 12 9
BE BX (az=-% 1 8 9 14
KB & (2T 8 8 15
B 1 | ERL) 8 8 15
KNIg % (MSS) 4 4 8 15
mA B | ERWL) 4 4 8 15
XF = F4Y) 8 8 15
RE X | F4V) 8 8 15
XH h— (BE= 2 4 6 21
X5 E#EF| (MSS) 2 4 6 21
& B (2T 6 6 21
= A (MSS) 4 4 24
Bl Rk (BE= 4 4 24
HZix WK (B= 4 4 24
¥ BXH (EE) 4 4 24
KE HE (EE) 4 4 24
IS BB (BE= 4 4 24
L =& | @EXH) 4 4 24
L% & (FAXFD 4 4 24
HE B | FEEAD 4 4 24
EE £ | EIEFEAD 4 4 24
=% &8 | @=-% 4 4 24
EAR B | UERWL) 4 4 24
e EXRE| AL 2 2 36
FafE IERE (TN21) 2 2 36
KO EC 5'1%) 2 2 36
mE EZ CRED) 1 1 39
EH EE | 0—tUh) 1 1 39
e HEE | aNan |1 1 39
P 1B =30 #{2=22 Bestd=14 Best8=8 Best16=4 Best32=2
UT1F 41U B =8 #/EH—=6 Bestd—4 Best8=2 Best16=1



13U FUTEFIOVITIVASUXZUT R

K4 Bl 2019%k | 20208 | 2020%k | &FP | WAfTr
INEES (O’s) 8 30 30 68 ]
%A 3 | (RETOC) 30 14 44 2
By k& (O’s) 4 14 22 40 3
BH NMNE (EH) 2 22 8 32 4
ik &5 (MSS) 8 14 8 30 5
XiE BEE| FEFAD 6 8 14 28 6
IO B | (ADVANCE) 4 8 8 20 7
EE FHE | (-FB) 4 8 4 16 8
BEEH 5K (3'4%) 4 8 12 9
wH HTR| (XD 2 4 4 10 0
fH EF | (FEEX) 2 4 4 10 0
AFiE Z2R| 0-tUh) 2 4 4 10 0
HH Y (ZERTC) 2 4 4 10 0
A& EDHE| ERL) 1 4 4 9 4
=H #h | E=d) 1 4 4 9 4
TR HIS 21%) 8 8 6
LH EHR (az=-=y 1 4 2 7 yi
Pk BR | E=d) 4 4 8
s BF | TSER) 2 2 4 8

& 58 (n—FB) 4 4 8
%¥®| {6AR (0’s) 4 4 8
SFE B (E4%0 4 4 8
EE BF (YELL) 1 2 3 23
SEH BDF| dERWL) 1 2 3 23
EH F& | (W-+tB) 1 2 3 23
RO B (F4)) 2 2 26
AH k& | Eed) 2 2 26
il £ | BEH) 2 2 26
BH BE | Eed) 2 2 26
RE BER =) 2 2 26
B X%B (%) 2 2 26
i XE =) 2 2 26
Bl fERFEl Q= 2 2 26
B bk (REA) 2 2 26
BXW BE| TSER) 2 2 26
Heg =i E5) 2 2 26
@l XE | (YELL) 2 2 26
EH B{E | TSER) 2 2 26
IIEH METE (EE) 2 2 26
LI %A (74) 2 2 26
BE BE&F|  EHD 2 2 26
HE £ | GREAY) 2 2 26
g K= (3'4%) 2 2 26
HE fE | EFZ1) 2 2 26
kK (YELL) 2 2 26
EEX & (%0 2 2 26
RO E&E (TGK) 2 2 26
NI -8 VO 2 26

P 1B =30 #2HF=22 Bestd=14 Best8=8 Best16=4 Best32=2
UI1F 41U EBi=8 #{B$—=6 Best4d—=4 Best8=2 Bestl16=1



13(14) FRULTFTHRFFATILRASUOX TR

K4 il 2019%K | 20208k | &EP JE 4z
INR FI2R (O’s) 8 30 38 1
XE BEE| (FFAF) 8 30 38 1
g I (MSS) 14 22 36 3
A ek |(ADVANCE) 22 22 4
HH Y (ZRTC) 8 14 22 4
=B 23 | (RRTO) 8 14 22 4
ER HIFS| F1Y) 4 14 18 7
W HIR | (M) 8 8 16 8
BH K (&'1%) 14 14 9
By K# (Q’s) 4 8 12 10
AFE ZER| (-t 4 8 12 10
Bt NE | (RED 2 8 10 12
AR EHE| EHEWLD 2 8 10 12
SEH EOF| ERIL 2 8 10 12
FE &F | TSEE) 8 8 15
BXL B\E| (TSHR) 8 8 15
kO B% (74) 4 4 8 15
SFEB & |(ADVANCE) 8 8 15
HFEE (N-NB)) 8 8 15
fE I | HRE) 4 4 20
HH &y | REY) 4 4 20
LI METE (Z=E) 4 4 20
A w7 | (YELL) 4 4 20
BE &% | (YELL) 4 4 20
BEH %= (ZcBft) 4 4 20
R M= (ZBff) 4 4 20
kO & (TGK) 4 4 20
A BER (=) 4 4 20
Bik £% (=) 4 4 20
Fk BR | (E=9) 4 4 20
wH B¥E | (E=9) 4 4 20
AH EF | (REX) 4 4 20
R A8 (0’s) 4 4 20
=iF ¥E (TN21) 4 4 20
FI8 A (74)) 4 4 20
JEE S| (MAB) | 2 2 36
FAUF BE=30 %E{EH=22 Best4=14 Best8=8 Best16=4 Best32=2
UTIH4Yh B=8 #/B—=6 Best4=4 Best8=2 Best16=1



15 (168) FUTBFSLVITILRS VX UTER

K4 il 2019%k | 20208 | 2020#k | &FtP | WAGL
B EE | (54v) 60 60 60 180 ]
AR ZE |(ERTC)] 30 16 44 90 2
IR BEA E35) 14 28 28 70 3

LM B (Wacc) 28 4 28 60 4
R L8 | (ZERF) 8 44 8 60 4
ARE Xt (MSS) 8 28 16 52 [
LR FX (MSS) 22 8 16 46 7
=K% | TSER) 16 16 8 40 8
B S8 (54%) 8 8 16 32 9

=l &R (YELL) 16 8 8 32 9
=H 84E (TY~<h) 4 16 8 28 ]
Rl EA (MSS) 2 16 8 26 2

EE B (Z=RT0) 8 8 8 24 3
=R BA (0's) 8 8 8 24 3
H2 H& | (ERBTO0) 8 8 8 24 3
£k =88 | TSER) 16 16 [

AE BARB| (B4Yv) 4 8 4 16 6
A4 BX (MTP) 4 8 12 8
A ZEA | (3=-9) 8 4 12 8

XEE (YELL) 4 4 8 20
iR #H | F4v) 4 4 8 20

€& (FEKF) 4 4 8 20

A EARB| (ZB¥) 4 4 8 20

JIE & (ZRE®) 2 4 6 24

BEE RED) 2 4 6 24

B3 (N-FB) 2 4 6 24
FEEA | 3=-9) 4 4 27
% Bt | (%) 4 4 27
BX BN | (ERZF) 4 4 27
WX #E | (REF) 4 4 217
AT Kt | (REF) 4 4 27
e Hth | (EBF) 4 4 27
2l EZR | (EEF) 4 4 27
BF B | &EB®) 4 4 27

A AR | FFlg) 4 4 27

Bl & (MSS) 4 4 27
£0 BE (N-FB) 4 4 27
REBX | (F14YV) 4 4 27
#5 FH | &EBF) 4 4 21
Bk kB | (F147) 4 4 217
Wi BEE | (RET0) 4 4 27
#E BHZE | @) 4 4 27
IS 468 | (EETA) 4 4 21
Bl XKE | (EER®) 4 4 27
0 £5 (5'1%) 4 4 27
=H EA ==9) 4 4 217
i &H (T <h) 4 4 27
EE £ |(FFAE) 4 4 27
8 BX (74L) 4 4 27
SHEH | 3=-9) 4 4 217
N Fyl | (XD 4 4 27
W EE (ZBf) 4 4 27
Ky +38 (YELL) 2 2 53
B:Z X | (FEXH) 2 2 53
BEBA | GEXFH) 2 2 53
HE HEX | GEX3F) 2 2 53
T &R (=% 2 2 53
=H &k | (Bxd) 2 2 53
ERFHE |(FEAL 2 2 53

RAUL  BRE—60 Bk —44 Best4—28 Best8—16 Best16-8 Best32=4
U13F MU EBBs=230 #ER;=22 Best4d=14 Best8=8 Best16=4 Best32=2



15 (16) MUTBFAITLRAS VXU IR

20198k | 20208k | &EP | IEfT
L BA a4%) 60 44 104 1
HEB NS | (ZBT0) 16 60 76 2
A T8 (&%) 16 60 76 2
A 5B (54%) 14 44 5 4
A £X [ (ZRT0) 30 28 5 4
IRGEFN (MSS 30 16 46 6
gk =88 | (TSER) 16 28 44 7
=KL [ (TSEE) 16 28 44 7
W =EZE [ (ZBT0) 8 28 36 9
AE BA (MTP) 14 16 30 10
EEZN (ZRTC) 14 16 30 10
%R KB (54%) 14 16 30 10
NG (MSS) 8 16 4 13
= EXRER [ (YELL) 8 16 4 13
F BA (54%) 8 16 4 13
il EA (MSS 2 16 [ 16
R BEX | (FREF) 8 8 6 17
WA FE | (ERY) 8 8 6 17
#whH AN | (FRF) 8 8 6 17
=H #E [(YAMATO) 8 8 6 17
R B (Wacc) 16 6 17
B EA | (EXF) 4 8 22
=R AE | (EXF) 4 8 22
Fi EARD | (REZ) 4 8 22
£FE (FERH0) 4 8 22
LW F—BF | (FEAF) 4 8 22
hi 2 (ZcBff) 4 8 22
B miE (ZcHff) 4 8 22
AR #4 [E=)) 4 8 22
i EFE | EEP) 8 30
WA EX [ (=&H) 8 30
e b | (EES) 8 30
Fif EA (2=-%) 8 30
S B (ZR%) 4 4 30
BAEAN [ (@=-9) 8 30
LN ) 8 30
B AL (%) 2 4 6 37
20 2k (BH) 2 4 6 37
FEIEINENGESN) 2 4 6 37
Hi A | (FEXFD) 2 4 6 37
opE BH— | (EXIF) 2 4 6 37
B8 6K | (EX3F) 2 4 6 37
NAE &8 | (FRF) 2 4 6 37
M HE | (EBLT) 2 4 6 37
DR | (RRS) 4 4 45
NE FfE | (EKX5F) 4 4 45
tIAR #BF (54%) 4 4 45
AE FIAREE | (547 4 4 45
2EEB  [(YAMATO) 4 4 45
JILE & =%) 4 4 45
FH B =%) 4 4 45
S A =F) 4 4 45
EED 8 =%) 4 4 45
EE @A | (FEA) 4 4 45
Br B | (FEAF) 4 4 45
EE KiE | (FAXAF) 4 4 45
N EE | (FXH) 4 4 45
MGES NGRS 4 4 45
WA BA | (EXF) 4 4 45
= (EXF) 4 4 45
#H % (MTP) 4 4 45
&= 52 | (FRLA) 4 4 45
SH EFE (Z=E) 4 4 45
IS (ZED 4 4 45
KEH (YELL) 4 4 45
Bl FE F4¥) 4 4 45
FHEA | -t 4 4 45
=3 = (F4%) 4 4 45
PNITBEES (ZzBft) 4 4 45
a3 &3 (Zcfft) 4 4 45
Gl i 4 4 45
AR ey | (E3%A) 4 4 45
JEH FiA | (E%A) 4 4 45
kO &£ =RY¥) 4 4 45
ZEH 20 | (FEAHM) 4 4 45
N BAE [ (FEAFD) 4 4 45
78 B4 (Z ) 4 4 45
%k N | (Eid) 4 4 45
=H &8 [EEHR) 2 2 79
#BH X3 (0’s) 2 2 79
i N =) 2 2 79
Eif Eth =) 2 2 79
e (n-NB) 2 2 79
BE =8 | (BXAF) 2 2 79
FR M [((FEF2E 2 2 79
R BN | (BATF) 2 2 79
ER RE [E35) 2 2 79
AR EN (&) 2 2 79
BTE fntB8 | (BRLLA) 2 2 79
S H HRAER | (ERle) 2 2 79
EH E= 2 2 79
X & (YELL) 2 2 79
BRI, (E% ) 2 2 79
=hy A0 | (EkE) 2 2 79
7 #E | (EMEF) 2 2 79
& #th [(FEIFAE) 2 2 79

/‘k"»f:/h BE=00 #1ZPs =44 Best4=28 Best8 =16 Best16=8 Best32=4
U13F1uh BEE=30 %ER:=22 Best4=14 Best8=8 Best16=4 Best32=2



15(18) FULTHRFIUUVTILARSUX VT &R

K4 TR 2019%k | 20208 | 20208k | &&tP | MEfX
B (51%) 60 44 60 164 1
ERNETE (0’s) 28 60 44 132 2
XKIF e (YELL) 16 28 28 72 3
JIIEE B& [(ADVANCE) 14 28 8 50 4
BEF EB (1=-%) 8 8 28 44 5
HEp K (F4%) 8 16 16 40 6
=% R E (YELL) 16 8 16 40 6
ERIEXS (2=-%) 8 8 16 32 8
BIiR B (54%) 8 16 8 32 8
B xR | CEHTA) 8 16 8 32 8
SN ENEE (2=-%) 14 8 8 30 1
By A8 [ (YAMATO) 22 8 30 ]
i NE (MSS) 4 8 16 28 3
EiE BR (8'1%) 8 8 8 24 4
=P = (YELL) 4 8 8 20 5
o 55 =) 8 8 16 6
KE @Y% [(ADVANCE) 16 16 6
A EA | () 4 4 8 8
w0 WE [ (BE) 4 4 8 8
KK F=E| (&P 4 4 8 8
B it =) 4 4 8 8
MH K | (&) 4 4 8 8
RrE BE | (&BE) 4 4 8 8
A mEZE | (YELL) 4 4 8 8
tA &A8 | TSER) 8 8 8
A 3 (YELL) 4 4 8 8
rH = () 4 4 8 8
Eig X | (RETC) 2 4 6 28
Wil #wheE|] (EF) 2 4 6 28
EED & [ (YAMATO) 2 4 6 28
R FR | (EE) 4 4 31
MA &&% | (EE) 4 4 31
HzME =il ) 4 4 31
e OB | (BA) 4 4 31
2 BE =) 4 4 31
& t= &=¥) 4 4 31
HIE FHE &=¥) 4 4 31
HA &EHE =) 4 4 31
A =% =) 4 4 31
YAH 2 (Z6t) 4 4 31
L 25K €5 4 4 31
ik E85 [ (EBR) 4 4 31
7 KA [ ER) 4 4 31
INEE (Zcft) 4 4 31
K & (& M) 4 4 31
HZH =4 | (EBE) 4 4 31
A HZE E= 4 4 31
BA =<{n| @z=-%) 4 4 31
IAEES BIRE () 4 4 31
BA EE | G 4 4 31
B FikE [ (ER) 4 4 31
ZE W | (EBR) 4 4 31
2 =< n[ () 4 4 31
BA Fz¥ | (B 4 4 31
XA HHA[ (KR 4 4 31
MT #KE |[(FEFAIE) 2 2 56
®BE A (E= 2 2 56
BA =g | (z-9) 2 2 56
BR 2] =) 2 2 56
w AV 1Bi%=60 {2 —=44 Best4=28 Best8=16 Best16=8 Best32=4
U13FIuh  1BEs=30 #{E5=22 Best4=14 Best8=8 Best16=4 Best32=2



15(16) FUUTERFHATILASUOX TR

K4 Bl 2019%k | 2020%k | &5tP [=Liva
B E (51%) 60 60 120 1
Prip 2k (5 4%) 28 60 88 2
RIX HE (YELL) 28 44 72 3
B2 MK (54%) 16 44 60 4
e A48 | (YAMATO) 30 28 58 5
RN ENEE (1=-9) 30 28 58 5
W ke [(FFEsP)] 22 16 38 7
BEg k& | (a=-9) 22 16 38 7
=l BE =) 8 28 36 9
ych K565 =%) 8 28 36 9
JilEE B& |(ADVANCE) 14 16 30 11
LR INE (MSS) 14 16 30 11
B %R (SEEETA) 14 16 30 11
hAf &NE8 | (TSHER) 28 28 14
5P % (YELL) 8 16 24 15
B 3 (ZRTC) 8 16 24 15
=g JREE (YELL) 16 8 24 15
S (1=-%) 16 8 24 15
EEEIEES (YELL) 16 16 19
AT DA =) 8 8 16 19
HIE FEE =) 8 8 16 19
R =E) 8 8 16 19
RE BE | (FF) 8 8 16 19
R EmEAE | (Ll 8 8 16 19
LA Fit =) 4 8 12 25
KK E£2B | (FF) 4 8 12 25
B4 EE =) 4 8 12 25
Wl FEhE | (=) 4 8 12 25
=Yk =) 4 8 12 25
& t= =¥) 4 8 12 25
T H Inth (1=-9) 4 8 12 25
S <5 | (&) 8 8 32
BR s | (2z-9) 8 8 32
FAH £ (Z ) 8 8 32
L B5 (K bft) 8 8 32
EHE B (%) 8 8 32
BA T (EAR) 8 8 32
E BE (%) 8 8 32
B DK (E#0) 8 8 32
KA IBHE (%) 8 8 32
Hik 28 (EAR) 8 8 32
R B& (51%) 4 4 42
BA =T (1=-%) 4 4 42
B3 EFET | (ON21D) | 4 4 42
F4Ub BiE—=60 #E{EE—44 Best4—28 Best8=16 Best16=8
U13F'M{uh BRE=30 #{B=22 Best4=14 Best8=8 Best16=4





